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E–3566 

B. Sc. (Part I) EXAMINATION, 2021 

(New Course) 

CHEMISTRY 

Paper Second 

(Organic Chemistry) 

Time : Three Hours ]  [ Maximum Marks : 33 

uksV % izR;sd bdkbZ ls ,d iz’u gy djrs gq,] dqy ik¡p iz’uksas ds mŸkj 

nhft,A ,d iz’u ds lHkh Hkkxksa ds mŸkj ,d gh LFkku ij nhft,A 

mŸkj laf{kIr esa ,oa lgh <ax ls fyf[k,A izR;sd iz’u ds lEeq[k 

vad n’kkZ;s x;s gSaA  

 Attempt five questions in all, selecting one question from 

each Unit. All parts of a question should be answered in 

one place only. Your answer should be precise and to the 

point. Marks are shown against each question.  
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bdkbZ&1 

(UNIT—1) 

1- ¼v½ ,slhfVyhu ds izR;sd dkcZu ijek.kq esa ladj.k gksrk gS % 1 

(i) 2sp  

(ii) 3sp  

(iii) sp 

(iv) 3sp d  

The hybridisation in each carbon atom of acetylene is : 

(i) 2sp  

(ii) 3sp  

(iii) sp 

(iv) 3sp d     

¼c½ vuqukn dh vo/kkj.kk;sa D;k gSa \ le>kb;sA 2 

What are the concepts of Resonance ? Explain.  

¼l½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k;s % 4 

(i) eslkseksfjd izHkko 

(ii) dkcksZdsVk;u dk LFkkf;Ro 

Write short notes on the following : 

(i) Mesomeric effect 

(ii) Stability of carbocation 
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vFkok 

(Or) 

¼v½ esfFky DyksjkbM esa C – Cl vkcU/k ds lekax cU/k fo[k.Mu ij 

cusxk %  1 

(i) 3CH ,Cl   

(ii)  3CH ,Cl  

(iii) 3CH ,Cl  

(iv) 2 4 2C H Cl     

On homolytic bond cleavage of C – Cl which one is 

formed ? 

(i) 3CH ,Cl   

(ii)  3CH ,Cl  

(iii) 3CH ,Cl  

(iv) 2 4 2C H Cl  

¼c½ vfrla;qXeu D;k gksrk gS \ le>kb,A 2 

What is hyperconjugation ? Explain.  
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¼l½ fuEufyf[kr dks le>kb;s % 4 

(i) cU/k dks.k ds eku ehFksu esa 109°28', veksfu;k esa 

106°46' rFkk ty esa 104°27' gksrk gSA 

(ii) C = C f}cU/k] C – C ,dy cU/k ls NksVk gksrk gSA 

Explain the following : 

(i) The values of bond angle is 109°28' in methane, 

106°46' in ammonia and 104°27' in water. 

(ii) C = C double bond is smaller than C – C single 

bond. 

bdkbZ&2 

(UNIT—2) 

2- ¼v½ fuEufyf[kr esa ls dkSu izdkf’kd leko;ork iznf’kZr djrk gS \ 

1 

(i) 1-C;wVsukWy 

(ii) 2-C;wVsukWy 

(iii) 3-isUVsukWy 

(iv) 4-gsIVsukWy 

Which one of the following shows optical isomerism ? 

(i) 1-Butenol 

(ii) 2-Butenol 

(iii) 3-Pentanol 

(iv) 4-Heptenol 
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¼c½ fuEufyf[kr ;kSfxdksa ds uke E ,oa Z i)fr ds fu;e ds 

vuqlkj fyf[k, %  2 

(i) 

3CH Cl

C

||

C

H Br

  

(ii) 

2 5C H H

C

||

C

Cl OH

 

Write the names of following compound according to 

the rule of E and Z method ? 

(i) 

3CH Cl

C

||

C

H Br

  

(ii) 

2 5C H H

C

||

C

Cl OH

 

¼l½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %  4 

(i) fof’k”V /kqzo.k ?kw.kZu 

(ii) ehlks ;kSfxd 
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Write short notes on the following : 

(i) Specific Rotation  

(ii) Meso Compound 

vFkok 

(Or) 

¼v½ (+) vkSj (–) ySfDVd vEy gksrs gSa % 1 

(i) izfrfcEc:i 

(ii) ,ihej 

(iii) MkbLVhfj;ksej 

(iv) e/;orhZ 

(+) and (–) lactic acids are : 

(i) Euantiomer 

(ii) Epimer  

(iii) Diastereoisomers 

(iv) Intermediate  

¼c½ fuEufyf[kr ds R/S foU;kl fyf[k, % 2 

(i) 3

2 5

Cl

|

CH CH

|

C H

 

(ii)  3

H

|

CH BrC

|

Cl
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Write the R/S configuration of the following : 

(i) 3

2 5

Cl

|

CH CH

|

C H

 

(ii)  3

H

|

CH BrC

|

Cl

  

¼l½ fuEufyf[kr dks le>kb;s % 4 

(i) T;kferh; leko;ork 

(ii) fdjSyrk 

Explain the followings : 

(i) Geometrical isomerism  

(ii) Chirality 

bdkbZ&3 

(UNIT—3) 

3- ¼v½ lkbDyksgsDlsu esa dkSu&lh la:i.k dh ÅtkZ lcls vf/kd gksrh 

gS \       1 

(i) fV~oLVsM dqlhZ :i 

(ii) fV~oLVsM ukSdk :i 

(iii) dqlhZ :i 

(iv) ukSdk :i 
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The conformer of cyclohexane which have highest 

energy is : 

(i) Twisted chair form 

(ii) Twisted boat form  

(iii) Chair form  

(iv) Boat form  

¼c½ cs;j ds ruko fl)kUr dks le>kb,A 2 

Explain the Baeyer’s strain theory.  

¼l½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 4 

(i) ,Fksu dk la:i.k 

(ii) lkbDyks,Ydsu dk LFkkf;Ro 

Write short notes on the following : 

(i) Conformation of ethane  

(ii) Stability of cycloalkanes  

vFkok 

(Or) 

¼v½ ,Fksu dk LFkk;h la:i.k dkSu&lk gksrk gS \ 1 

(i) xzflr 

(ii) lkarfjr 

(iii) fo”keryh; 

(iv) mi;qZDr lHkh 
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Stable conformation of ethane is : 

(i) Eclisped  

(ii) Staggered 

(iii) Non-planar  

(iv) All of the above  

¼c½ Xywdksl ds la:i.k dh O;k[;k dhft,A 2 

Explain the conformation of glucose.  

¼l½ fuEufyf[kr dks le>kb, % 4 

(i) lkbDyksgsDlsu dk LFkkf;Ro 

(ii) cs;j ruko fl)kUr dh dfe;k¡ 

Explain the followings : 

(i) Stability of cyclohexane  

(ii) Limitations of Baeyer’s strain theory  

bdkbZ&4 

(UNIT—4) 

4- ¼v½ lSVtsQ fu;e dks mnkgj.k lfgr le>kb,A 2 

Explain the Saytzeff rule with example.  

¼c½ oqVZ~t vfHkfØ;k dh fØ;kfof/k fyf[k,A 2 

Write the mechanism of Wurtz reaction.  
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¼l½ D;k gksrk gS tc % 2 

(i) ,fFkyhu dh fØ;k vkstksu ls gksrh gSA  

(ii) ,fFkyhu czksekbM dks ,sYdksgkWy ds lkFk xeZ fd;k tkrk 

gSA 

What happens when : 

(i) Ethylene reacts with ozone  

(ii) Ethylene is heated with alcohol  

vFkok 

(Or) 

¼v½ eqDr ewyd izfrLFkkiu vfHkfØ;k dks le>kb,A  2 

Explain the free radical substitution reaction.  

¼c½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 4 

(i) gkbMªkscksjs’ku vkWDlhdj.k  

(ii) 1] 2 vkSj 1] 4 ;ksxkRed vfHkfØ;k  

Write short notes on the following : 

(i) Hydroboration oxidation  

(ii) 1, 2 and 1, 4 addition reaction   

bdkbZ&5 

(UNIT—5) 

5- ¼v½ gqdy fu;e D;k gS \ bl fu;e ds vk/kkj ij 

lkbDyksisUVkMkbfuy ,suk;u dh ,sjkseSfVd izdf̀r dks le>kb,A 

2 

What is Huckel Rule ? On the basis of this explain the 

aromatic nature of cyclopentadienyl anion.  
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¼c½ csathu dh vuquknh lajpuk dks le>kb;s rFkk vuquknh ÅtkZ dk 

eku fyf[k,A  2 

Explain the resonatic structure of Benzene and write 

the resonance energy value.  

¼l½ D;k gksrk gS tc % 2 

(i) okbfuy DyksjkbM dh fØ;k 3AlCl  dh mifLFkfr esa 

csathu ls gksrh gSA  

(ii) lksfM;e csatks,V dh lksMkykbe ds lkFk xeZ djrs gSaA 

What happens when ? 

(i) Vinyl chloride reacts with benzene in presence of 

3AlCl .  

(ii) Sodium benzoate is heated with sodalime.    

vFkok 

(Or) 

¼v½ csathu dh dsdqys lajpuk dks le>kb;sA  2 

Explain the Kekule structure of benzene. 

¼c½ csathu ls ,sfuyhu cukus dh fof/k fyf[k,A 2 

Write the method of preparation of aniline from 

benzene.  

¼l½ ÝhMy&Øk¶V vfHkfØ;k dh fØ;kfof/k fyf[k,A 2 

Write the mechanism of Friedel-Crafts’ reaction.   

E–3566   


